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Instructions for the Candidates
Write your roll number in the space provided on the top of this page.
This paper consists of seventy five multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

® 6 @0

where (C) is the correct response.

(ii)

Example :

Your responses to the question of Paper lll are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.
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PSYCHOLOGY
PAPER - Il

Note : This paper contains (75) seventy-five objective type questions. Each question
carrying two (2) marks. Attempt all the questions. There is only one correct
answer to each question.

1. The stanford prison experiment has a 6. Match List — | with List— Il and select your
prime example of which of the following answers using the codes given below the
concepts ? List.

(A) Conformity List—1 List—1I
(B) Compliance a) Ebbinghaus 1) Chunking
(C) Obedience b) Murdock 2) Purposive
(D) Cohesiveness behavior
- . c) Miller 3) Nonsense
2. Perceiving apparent movement is also
syllabus
known as .
(A) Ziegarnik effect d) Tolman 4) Primary
. recency effect
(B) Depth perception
(C) Phi phenomenon Codes :
(D) Perceptual constanc a b c d
P y (A) 1 3 2 4

3. A patient is found to be having inability (B) 2 1 4 3
to resist washing hands time and again. (C) 4 3 1 2
This is a sign of (D) 3 4 1 2
(A) Hysteria (B) Anxiety
(C) OCD (D) Phobia 7. Match List — | with List — Il and select

your answers using the codes given

4. Placebo effect means below the List.

(A) Studying the use of a drug in List—1 List—1I
bringing about a change a) Factorstheory 1) Sheldon

(B) Studying the use of a non drug in b) Constitutional ~ 2) Bandura
bringing about a change theory

(C) Using an instrument to record the c) Cognitive theory 3) Cattel

changes in the behavior

(D) Observing the effect of independent d) Social learning  4) Kelly

variables in a laboratory theory
Codes :

5. Mnemonic devices a b c d
(A) Improve memory (A) 2 3 4 1
(B) Improve attention (B) 1 2 4 3
(C) Improve motivation (C) 3 1 4 2
(D) Improve personality (D) 4 3 1 2

K-1514 @ Paper Il
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8. According to equity theory which is the

10.

K-1514

correct sequence for comparison that an

employee can use

(A) Individual inside; individual outside;
group outside; group inside

(B) Self inside; self outside; other
inside; other outside

(C) Other inside; other outside; group
inside; group outside

(D) Self inside; self outside; group

inside; group outside

Which term explains, reconsidering how
work would be done and the organization
structure if they were being created from
scratch ?

(A) Reengineering

(B) Total Quality Management (TQM)
(C) Work dynamics

(D) Work force diversity

Which of the following describes the
comprehensive approach to
performance appraisal ?

(A) Self evaluation

)
(B) Peer evaluation
(C) Written essay
(D) 360 degree

11.

12.

Total Number of Pages : 32
Given below are two statements :

Assertion (A) and Reason (R). Indicate
your answer using the following codes.
Assertion (A) : Too many
compassions in data analysis increase
the probability of getting more
significant differences by chance.
Reason (R) : If ‘F’ is significant one
should continue the analysis with
Scheffe test.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Match List — | with List — Il and select
your answer using the codes given
below the List.
List -1 List—1I
a) Product-moment 1) Galton
method

b) Rank-difference 2) Pearson
method

c) ANOVA 3) Spearman
d) Regression 4) Fisher
method
Codes :
a b c d
(A) 3 2 1 4
(B) 4 1 3 2
©) 2 3 4 1
(D) 1 3 4 2
Paper Il
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13. Match List — | with List — Il and select
your answer using the codes given

below the List.

List -1
a) Use of algorithms
b) Use of heuristic
c) Use of analogy
d) Rely on incubation

List—1I

1) A type of heuristic that relies on

finding points of correspondence

with previouslysolved problem

2) Series of steps that is guaranteed to
produce a solution

3) Unconscious process that can lead
to solutions

4) Short cut strategy that may or may not

be effective

Codes :
a b c d
(A) 2 3 1 4
(B) 2 4 1 3
(C) 4 1 3 2
(D) 3 2 4 1
K-1514

@
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14. Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R). Indicate your

answer using the codes given below :

Assertion (A) : In a multivariate

analysis there are more than two DVs.

Reason (R) : A 3 x 3 factorial analysis

is a multivariate statistics.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

15. Which is the correct sequence in the

process of attitude change ?

(A) Attending; comprehending; yielding;

retention; behavior

(B) Behavior, retention; yielding;

comprehending; attending

(C) Retention; yielding; behavior;

comprehending; attending

(D) Yielding; comprehending; attending;

behavior; retention

Paper Il
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Match List — | with List — Il and select
your answer using the codes given
below the List.

List-1 List—1I
a) Chi-square 1) Statistical
control of
variables
b) ‘t test 2) Testof
independence
c) ANOVA 3) Comparison
between two
means
d) ANCOVA 4) Comparison
between more
than two means
Codes :
a b c d
(A) 3 2 1 4
(B) 4 3 2 1
©) 2 1 3 4
(D) 2 3 4 1

Which of the following sequence is
correct in person perception ?

(A) Prediction; impression formation;
trait implication; attribution; snap
judgement; attention

(B) Snap judgement; attribution; trait
implication; impression formation;
prediction; attention

(C) Attribution; trait implication;
impression formation; prediction;
attention, snap judgement

(D) Attention; snap judgement;
attribution; trait implication;

impression formation; prediction

©

18.

19.

20.

Total Number of Pages : 32

Which one of the following is not a
method in developmental psychology ?

(A) Longitudinal
(B) Psycho-physical
(C)

(D)

Cross-sequential
Cohort

Who introduced the term social
perception ?
(A) Bruner

(C) Terman

(B) Alport
(D) Thurston

Match List — | with List— Il and select your
answer using the codes given below the
List.

List-1
a) Dissociative disorder
b
c

d

)

) Mood disorder

) Panic attack

) Social phobia
List-II

1) Intense fear of being evalued by
others

2) Sudden escalation of anxiety which
chocking and palpitation

3) Psychological disorder marked by
extreme emotions

4) Conscious awareness becomes
separated from previous memory

Codes :

a b c d

(A) 2 3 1 4

(B) 4 3 2 1

(C) 3 1 4 2

(D) 1 3 2 4
Paper Il
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21. If a student becomes unconscious in the | 24- Match List -l with List — Il and select
. . your answer using the codes given
class as a teacher what will you do first ? .
below :

(A) Rushing to the principal’s office List—1 List— I

_ , a) Somatic nervous 1) Fight or flight

(B) Calling student’s parents system system

(C) Giving first aid to the student b) CNS 2) Restoring

normal function

(D) Calling a Doctor c) Sympathetic 3) Brain and spiral

nervous system cord
22. Which of the following is correct sequence d) Parasympathetic 4) Sensory
in prosocial intervention ? nervous system pathway
Codes :

(A) Deciding to help; noticing emergency; a b c d
interpreting emergency as emergency; (A) 4 3 1 2
knowing what to do (B) 4 2 1 3

(C) 3 2 4 1

(B) Knowing what to do, noticing (D) 1 2 4 3
emergency; interpreting
emergency as emergency; 25. Match List_— [ with List—1I a_nd select your

. answer using the codes given below :
deciding to help .

List—1

(C) Noticing emergency; interpreting a) Sublimation
emergency as emergency; knowing b) Identification
what to do; deciding to help c) Projection

(D) Interpreting emergency as d) Denial

_ . ) List—1I
emergency; knowing what to do; _ .

. . 1) Trying to become like someone else
deciding to help; noticing to deal with one’s anxiety
emergency 2) Refusal to accept reality

3) Changing from socially unacceptable
23. The process of liking maths teacher and to acceptable behaviour
subsequently liking maths assignment is 4) Etlﬁglrgg one’s own thoughts onto

(A) Response generalization Codes :

(B) Stimulus discrimination a b c d

(A) 2 3 4 1

(C) Spontaneous recovery (B) 3 1 4 2

- L C) 3 2 4 1
D) Higher order condition (
(D) Hig (D) 2 1 3 4
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26. Given below are two statements.
Assertion (A) and Reason (R) indicate
your answer using codes given below :

Assertion (A) : Rallo May bridges the
gap between existential and humanistic
approach to personality.

Reason (R) : He focuses on the anxiety

that must accompany any attempt to live
life to its fullest.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

27. Match List — | with List — Il and indicate
your answer using the codes given
below the List.

List -1 List—1I

(Personality Theories) (Focus)

a) Existential 1) Unconscious

b) Cognitive 2) Personal
choice

c) Behaviorist 3) Schemas
d) Psychoanalytic 4) Learning
Codes :

a b c d
(A) 2 3 4 1
(B) 2 1 3 4
(C) 4 3 2 1
(D) 1 3 4 2

K-1514
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28. Match List — | with List — Il and indicate
your answer using codes given below the
List.

List—1
Social facilitation
Deindividuation
Conformity
Social identity

List—1I

1) People in crowds loose a sense of
personal identity

2) We derive a view of our selves from
the group we belong to

3) The influence results from the mere
presence of another person or

a
b
c

)
)
)
d)

persons
4) Modifying our behavior to fit in to that
of others
Codes :
a b c d
(A) 3 1 4 2
(B) 4 2 3 1
(®) 2 1 4 3
(D) 1 2 3 4

29. Match List — | with List— Il and select your
answer using the codes given below the
List.

List-1 List-1I
a) Syntax 1) Language
usage

b) Semantics
c) Pragmatics

2) Word analysis
3) Word order

d) Morphology 4) Meaning
Codes :
a b c d
(A) 2 3 1 4
(B) 3 1 4 2
©) 4 3 2 1
(D) 3 4 1 2
Paper Il
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31.
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K-1514

Which of the following represents the
correct order (From small to large units) ?

(A) Syllable — Phoneme — Sentence —
Word

(B) Phoneme — Syllable — Word —
Sentence

(C) Word — Syllable — Phoneme —
Sentence

(D) Word — Phoneme — Syllable —
Sentence

Match List — | with List— Il and select your
answer using the codes given below the
List.

List-1 List-1I
a) Adrenal medulla 1) Insulin

b) Adrenal cortex 2) Estrogens and
androgene

3) Epinephrine
4) Glucocorticoids

c) Pancrea
d) Gonades

Codes :

-~ wnNh P~
NBAWWDT
W==DNO0
AN Q

(A
(B
(C
(D

Gopal started learning Japanese and
then French. He had trouble with
French as Japaneese was interfering.
This is most likely due to

(A) Proactive interference

(B) Retro active interference

(C) Anterograde interference

(D) Consolidation problems

Linguistic relativity hypothesis states that

(A) Language shapes thoughts

(B) Thoughts shape language

(C) Language and thought develop
independently

(D) Language and thought mutually
influence

(1s)

34.

35.

36.

Total Number of Pages : 32

The duration of echoic memory is
than iconic memory, but its
capacity is probably

(A) Shorter; larger
(B) Longer; smaller
(C)

(D)

Longer; about the same

Shorter; about the same

Which of the following models views
memory as created and stored across a
network ?

A) Levels of processing
B
C

D) Three stage model

Parallel distributed processing

(A)
(B)
(C) Information processing
(D)

Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the following codes.

Assertion (A) : The effective to reduce
prejudice is to educate parents about the
deleterious consequence of prejudice on
the future of their children.

Reason (R) : Social learning and
cognitive factors play a significant role
in the formation of prejudice.

Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true
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37. Match List — | with List — Il and indicate

your answer using the codes given below
the List.

List-1 List—1I
(Therapy) (Focus)
a) Gestalttherapy 1) The therapy
associates
unwanted
behavior

with unpleasant
experience

b) Aversive therapy 2) The therapy
emphasizes on
more adaptive

ways of
thinking and
acting
c) Cognitive 3) The therapy
therapy focuses on
development of
healthy self
concept
d) Humanistic 4) The therapy
therapy focus on now
and here
Codes :
a b c d
(A) 2 1 3 4
(B) 3 2 4 1
(C) 4 1 2 3
(D) 1 2 4 3

38.

39.

40.

Total Number of Pages : 32

Which is the correct sequence for
changing a problematic behavior ?

(A) Precontemplation; contemplation;
preparation; action; maintenance

(B) Maintenance; action; preparation;
precontemplation; contemplation

(C) Action; preparation; contemplation;
precontemplation; maintenance

(D) contemplation; preparation; action;
maintenance; precontemplation

Match List — | with List — Il and indicate
your answer using the codes given
below the List.

List-1 List-1I

a) Median 1) Representative
value
b) Mean 2) Variance
c) Chi-square 3) Portion value
d) ANOVA 4) Association
Codes :
a b c d

(A) 4 1 3 2
(B) 1 2 4 3
©) 2 1 3 4
(D) 3 1 4 2

Which of the following is the correct order
of counselling model ?

(A) Effective, existential, cognitive,
humanistic

(B) Existential, humanistic, effective,
cognitive

(C) Cognitive, effective, humanistic,
existential

(D) Cognitive, humanistic, effective,
existential
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RN
41. Match List — | with List — Il and indicate
your answer using the codes given below

the List.
List—1
a) MMPI
b) MCMI
c) Neo-PI
d) EPQ
List—1I

1) Designed to diagnose various
psychological disorder

2) Designed to assess big 5
dimensions of personality

3) Designed to assess three basic
dimensions of personality

4) Widely used objective tests based
on empirical keying

Codes :
a b c d
(A) 4 1 2 3
(B) 1 3 2 4
(C) 2 1 3 4
(D) 3 4 1 2

42. Who is best known for his ‘X’ and ‘Y’

theory ?
A) Moreno
B

C

Maslow

(A)
(B)
(C) Fielder
(D)

D) McGregos

K-1514
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43. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the codes given
below.

Assertion (A) : The melody of all musical
notes put together is totally different from
the melody of individual musical note.

Reason (R) : Whole is greater than sum

of its parts.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

44. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the codes given
below.

Assertion (A) : Frequently formation of
impression about others is not accurate
even if many form the same impression
given the same information.

Reason (R): Because the firstimpression
may influence how we deal with later
information about the other person.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true
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46.
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Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given
below.

Assertion (A) : Forming mental
representations using linguistic code is
called linguistic relativity.

Reason (R) : Children have remarkable
ability to create mental representation of
the world in the form of language.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A)is false, but (R) is true

Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given below :

Assertion (A) : Raju had learnt
swimming in his village when he was
too young. But recently when he was
suddenly pushed by his college mate to
water he started swimming again
though there was a long gap.

Reason (R) : Learning remain latent until
it becomes necessary and required code.

Codes :

(A) Both (A) and (R) are true, and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true

)

Total Number of Pages : 32

47. Arrange the following correlation in

48.

49.

50.

descending order in terms of the
percentage of common variance shared
by the variable.

(A) 0.6;-0.5;-0.7;0.4

(B) —0.7;0.6;,-0.5;0.4
(C) —0.5;0.6;0.4;,-0.7
(D) 0.4;0.6;,-0.5;-0.7

Which of the following is the correct
sequence during the period of
adolescence ?

(A) Puberty; teenage; prepuberty, mid
adolescence

(B) Prepuberty; puberty; teenage; mid
adolescence

(C) Teenage; mid adolescence;
prepuberty; puberty

(D) Mid adolescence; prepuberty;
puberty; teenage

Teaching a dog to jump through a
flaming hoop involves the process of

A) Systematic desentization
B
C
D) Shaping

Classical conditioning
Discrimination learning

(A)
(B)
(C)
(D)

Pleasant but repressed person who
trends to internalize his or her anger
and anxiety and who finds expressing
emotions difficult is having

(A) Type ‘A’ personality
(B) Type ‘B” personality
(C) Hardy personality

(D) Type ‘C’ personality
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51. Given below are two statements.
Assertion (A) and Reason (R). Indicate
your answer using the code given below :
Assertion (A) : The rat can respond to
the bar in a Skinner’s box as frequently
or infrequently based on reinforcement.
Reason (R) : Behavior is strengthened
by reinforcement.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

52. A personal manager wants to develop a
test to use for placing applicant in job.
He would be most interested in
(A) Predictive validity
(B) Criterion related validity
(C) Face validity
(D) Content validity

53. A husband gives security to his wife but
he wants her to leave an attractive job in
another city. Wife experiences
(A) Approach-approach conflict
(B) Behavior disorder
(C) Approach-avoidance conflict
(D) Burnout feeling

K-1514

54.

55.

56.
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Which is the correct sequence of the

four stage process in developing

measurement ?

(A) Selection of indicators; formation of
index; concept development,
specification of concept dimension

Specification of concept
dimension, formation of index,
concept development, selection of
indicators

Concept development;
specification of concept dimension;
selection of indicators; formation
index

Formation of index, selection of
indicators, specification of concept
dimension, concept development

The NPC has a special relationship
with the following

(A) Median
(B)
(C)
(D)

Mode
Range

Standard deviation

Which of the following is not a
stimulant ?

(A) Amphetamines
(B) Caffine
(C) Nicotine

(D) Alcohol
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57. Which of the theories of emotion would

58.

59.

K-1514

predict that persons with spinal cord
injuries would show decreased
emotion ?

(A) Cannon — Bard

(B) James — Lange

(C) Shacter — Singer

(D) Facial feedback

Being in a bad mood after a hard day of
work Shashi could think of nothing
positive in her life. This is best
explained as

(A) Priming

(B) Repression

(C) Mood-congruent memory

(D) Retrieval failure

Compared to men’s rights, status and
power, those of women have been most

clearly limited by women’s

(A) Personal space
(B) Sex hormone
(C) Temperament

(D) Gender role

60.

61.

62.

63.

Total Number of Pages : 32

Selecting best principles from various
models and developing a new model in
counselling is called

(A) Clinical model

(B) Directive model
(C) Non-directive

(D) Eclectic model

Which personality variables accounts
for vulnerability to stress ?

(A) Locus of control
(B) Low self efficacy
(C) Hardiness
(D) Sociability

Which type of long-term memory is
revised and updated more or less
constantly ?

(A) Procedural
(B) Declarative
(C) Semantic

(D) Episodic

Which of the following is not an
obstacle to problem solving ?

(A) Heuristic
(B) Fixation
(C) Confirmation bias

(D) Mental set
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64. In which one of the following is having

bipolar adjective ?
(A) Sociogram
(B) Semantic differential
(C) Social distance
(D)

D) Equal appearing intervals

65. Which of the following has been found

to be most effective in treating sexual
disorders ?

(A) Psychoanalysis
(B) Cognitive therapy
(C) Drug therapy

(D) Behavior therapy

Read the following paragraphs and

answer the five questions which follow :

Since you are apparently in good
psychological health, according to
psychoanalytic perspective, you must
have experienced a healthy child hood.
Freud would say that your ego is
functioning well in balancing the
demands of your Id with the restraining
demands of your super ego and reality.
He also says that your honest nature
reflects a well developed super ego
while Jung emphasizes collective

unconscious.

66.

Total Number of Pages : 32

Trait theorists emphasize on
consistency and classifying your
personality type. Eysenck and Kagan
attribute certain trait differences to
biological factors such as autonomic

reactivity and heredity.

Humanists emphasize on your open
and honest nature which is a function of
fulfilment of basic needs and the

process of self actualization.

Social cognitive perspective
emphasize interaction between
personal cognitive factors, behaviour,

and environmental influences.

Which of the following determines good

health according to trait theorists ?

1) Cardiac health

2) Self concept

3) Autonomic reactivity and heredity

4) Freedom of choice

Codes :

(A) 4 only
(B) 3 only
(C) 1and 2 only

(D) 2 and 4 only
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Which of the following reflects honest

nature of human being according to
Freud ?

(A) Well developed super ego
B

(B) Social influence
(C) Balancing sexual urge
(D)

D) Sublimation

Which of the following determines open
and honest nature according to
humanist ?

1) Psychological state

2) Process of self actudization
3) Basic needs are met

4) Environmental influence

Codes :

(A) 2 and 3 only
(B) 4 only
(C) 1 only
(D)

D) 1 and 4 only

Which of the following is the view point
of social-cognitive theorist for healthy
personality ?

(A) Cognitive factors
(B) Environmental factors
(C) Behavior
(D)

D) Interaction of all the above

Jung deviated from Freud and
emphasized on the following as a
determines of personality.

(A) Libido

(B) Psycho-sexual maturation
(C) Collective unconscious

(D) Individual unconscious

Total Number of Pages : 32

Read the following paragraph and answer
the questions below the paragraph.

Rescola-Wagner theory solves several
critical problems associated with classical
conditioning theory. It uses relatively
simple mathematical and symbolic logic.
Maximum level of conditioning that can be
achieved is determined by the nature of
natural stimulus. It is called lambda, in this
theory. Conditionability of a particular pair
of stimuli is denoted by coefficient o (alpha).
The coefficient B (beta) designates the
potential associative strength of a specific
natural stimulus. According to the theory
the change in strength of associative
learning on any trial is a function of the
difference between maximum possible
learning and the amount already learned
till preceding trial. The theory also
explains the phenomenon of blocking by
establishing that there is no conditioning
left for second stimulus in the compound

stimulus situation.

71. Rescola-Wagner theory deals with

A) Latent inhibition effect

(A)
(B) Learned helplessness
(C) Increment in learning
(D) Super conditioning
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72. Reaching asymptotic level of learning is

determined by the nature of

73. Coefficient of alpha will be higher for
(A) Loud tone than inaudible tone
(B) Inaudible tone than loud tone
(C) UCS than for CS

(D) CS than for UCS

Total Number of Pages : 32

74. Potential associative strength of a
specific US is called

(A) Alpha
(C) Lambda

(B) Beta
(D) Delta

75. Blocking refers to the following

(A) Failure to show CR to the second
element in the compound stimulus

(B) Failure to show CR to the first
element in the compound stimulus

(C) Failure to show CR to a compound
stimulus

(D) Failure to show UCR to CS when
there is delay between them
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